
 
ТЕСТ 6 

 

 

1. Партнер открыл 1.  

Ваша рука 

 A J 4  

 5 

 A Q J 5 4 

 Q J 9 3 

Сколько у Вас очков ________ 

Ваша заявка  ____________ 

2. Партнер открыл 1.  

Ваша рука 

 5 4  

 A K Q 7 2  

 Q 4 2 

 K 5 4  

Сколько у Вас очков ________ 

Ваша заявка  ____________ 

3. Партнер открыл 1.  

Ваша рука 

 A 4 2 

 K Q 3 2 

 K 4 2 

 J 5 4  

Сколько у Вас очков ________ 

Ваша заявка  ____________ 

4. Партнер открыл 1.  

Ваша рука 

 A K 7  

 A 7 5   

 J 3 2 

 A K 5 4 

Сколько у Вас очков ________ 

Ваша заявка  ____________ 

5. Партнер открыл 1.  

Ваша рука 

 A Q J 10 4 3 

 A 8 7  

 K 5 4  

 4 

Сколько у Вас очков ________ 

Ваша заявка  ____________ 

6. Партнер открыли 1.  
Ваша рука 

 A Q 4  

 7 5  

 A K J 8 6 3 

 5 4 

Сколько у Вас очков ________ 

Ваша заявка  ____________ 

7.  

Ваша рука 

 A K 2 

 A 7 2  

 A 6 2 

 A K Q 8  

Сколько у Вас очков ________ 

Ваше открытие  ____________ 

8.  

Ваша рука 

 A K Q J 10 5 4 

 3  

 A 2 

 K Q J 

Сколько у Вас очков ________ 

Ваше открытие  ____________ 

9. Партнер открыл 2.  

Ваша рука 

 J 10 9 

 J 10 9 8 7   

 J 2 

 10 9 8 

Сколько у Вас очков ________ 

Ваша заявка  ____________ 

10. Партнер открыл 1.  

Ваша рука 

 A Q 7  

 K J 10  

 10 9 6  

 K 6 5 3 

Сколько у Вас очков ________ 

Ваша заявка  ____________ 

 


